20-200°20-02€° 57000 JHE

A-A /Ra125(/)
x
§ 86 £0,3
<
B y 845 .45
=
i
K
\/Ra3z/ \ |
R3 max - 2 Mecmg " -
e = T~ o=y F -
8003 | =
1,6x45° L ! i
. 5
2 | e
o i \ /
T
imi_ N\\/Ra63
40
230011 (137 1101 -
X (02
116403
o T N\
S l
< | |
=2 =
| | I\ ! -
_J_________L“_ _____ | - S|
S | | I/ | 8
= 1 ,
= ‘ | v
= A I It A
|
= L = 1. *Pazmepst 845 cnpabok.
i 12x45° 2 chacky 2. **PasmMepsi u napaMemps 080eCneYUMms UHCMPYMEHMOM.
S N 3. HeyxaszarHsie gpacku 0,5x45°.
- 4. OBwue donycku no FOCT 30893.1-m.
=
S BHC 100.45.320-02.002-02
=1
r§ - Aum. | Macca [ Macumad
= Wiam) Aucm| N doxym. | Tloger
Pa3pad. | ypuHobud A. 1201 nprUIUHG ﬂpEdHﬁﬁ 19«e 1:1
< [Tpob. lomoB4uko -
s T. KoHmp. ~ C s flucm | Mucmol 1
5 ¢ Hav.omd._[Mapkeg 2N Z2 040
E l;.m;e-mmp. fg;lg{;; ) - Cmans 35 FOCT 1050-2013 BENABTO3AMYACT
i KonupoBan

Qopram A3




£0-200°00-02€°05°001 JHE

x
b
i 1%45 - 2 packu
& .
l /
l /
T.::._.—_‘—-_—;;__}\ ;
| {
| || .| =
[ R SR S AN 3 <
T ] < H
t | | = S e 1
= | : -
S [ _i“-?l =
! =
|
(2
Lo Lo
80"’ X 10,1
A-A 30 £0.3
§ Ra 3,2 1645 2 ghacku
£ \
) %%,
S
: N ()
= ' b
3 / ) ) = :
. . =3 s S e ey
= L ] S 1. *Pasmepsi dns cnpaBox.
E = 2. **Paszmepel U napamMemps! 00ecneyums UHCMPYMEHMOM.
= / 3. Odwyue donycku no [OCT 30893.1-m.
Q] 4. OmBepcmue B30 BsinonHume 3a 0dHYy ycmanobKy.
5. Ocmpsie kpomku npumynumes.
. 25405
£ 105 BHC 100.50.320-00.002-03
S 10503 <~ Aum._| Macca | Macumad
= : Wsm] luem]  N° doxyn. | Dednhamal >
Paspaé. |l ypurobus A, IR /.ﬂp 0ywuHa nepeckss 20k2 | 1:1
. flpa8. __ |Foma8 : e
3 |T. xosmp. A/ Avcm | Mucmos 7
= f [riond. Wipso : Py222 . §9) (00T 7590-2006 040
< H. koump. [Kuuyxf g - Kpye 5 i
= Tt ontd i 35-HI-T8-T0 [OCT 1050-88 | "BE/ABTO3AMYACTS
2 | WA 1. KonupoBan Popram A3




